## 2.1 Tangent and Velocity Problems

Learning Objectives: After completing this section, we should be able to

- approximate the slope of the tangent line to a curve at a point.
- approximate the instantaneous velocity of a moving object at a particular moment.

Driving question to start: If we know the exact position of on object, how can we find its velocity?

#### 2.1.1 Limits

**Example.** Suppose we throw a baseball into the air. The function  $p(t) = 64t - 16t^2$  gives the ball's height in feet at any time t seconds after throwing it. What is the velocity at t = 1 seconds?

Let s start with a graph:  

$$p(t)$$

$$p(t) = 0 = 64t - 16t^{2}$$

$$= [6t(4-t))$$

$$At t=0.34 \text{ s, the ball is on the ground.}$$

$$When dow the ball reach its max height?$$

$$t=2 \text{ seconds, by inspection.}$$

$$M(x h \text{-ight?})$$

$$p(t) = 64 \cdot 2 - 16 \cdot 2^{2} = 64 \text{ ft}$$

Can we first approximate the velocity? Let's find the average velocity over some time intervals.

Average velocity between 
$$t=1s$$
  $\frac{1}{3}$   $t=2s$  is the slope  
of the scent line through  $(1, p(n))$   $\frac{1}{3}$   $(2, p(2))$   
 $V_{avg} = \frac{\Delta P}{\Delta t}$   $\frac{(change in P(0stion))}{(change in t(ine))}$   
 $U_{avg} = \frac{\Delta P}{\Delta t}$   $\frac{(change in P(0stion))}{(change in t(ine))}$   
 $t_{avage velocity}$   $= \frac{P(2) - P(1)}{2 - 1}$   $\frac{P(1)}{(see)} = \frac{64 - (64(1) - 16(1)^2)}{2 - 1}$   $\frac{1}{5}$   
 $= 16 \frac{4t}{5} = slope of Scent line through
 $(1, p(n))$  and  $(2, p(2))$   
 $Can ve get a better estimate for the velocity
 $at t=1s$ ?  $= 2y yes, use a smeller interval
 $average velocity between t=1s and t=1.5s$ :  
 $V_{avg} = \frac{\Delta P}{\Delta t} = \frac{P(1, s) - P(1)}{1, s - 1}$   $\frac{4t}{s}$   
 $= \frac{60 - 48}{6.5}$   $\frac{4t}{s} = 24$   $\frac{4t}{s}$$$$ 

A smaller time window produces an average velocity that is closer to the exact instancness velocity at 1s.

Autraje velocity between 
$$t = 1s$$
 and  $t = 1,001$  seconds:  
 $V_{arg} = \frac{\Delta p}{\Delta t} = \frac{p(1,001) - p(1)}{1,001 - 1} \xrightarrow{s} 31.984 \xrightarrow{t}{s}$   
 $wary equal sign is "approximately equal."$ 

So we have done several approximations. What is the end goal?



As the second time t is closer to t = 1 in our approximations, the average velocity

This is a limit! The limit as t approaches 1 of the average velocity gives the instantancous velocity at t=1 second

Shorter not ation i

11

$$\lim_{t \to 1} V_{avg} = V_{i1} \text{startaneous} (1)$$

$$= \sum_{t \to 1} \lim_{t \to 1} \frac{p(t) - p(1)}{t - i} = V_{inst} (1)$$

$$(The limit as t approaches 1'' of the average velocity (given by  $\frac{p(t) - p(1)}{t - i}$ )'' '' is '' the instancous velocity at t=1.''
For our example, we estimate  $V_{inst} (1) = 32 \frac{ft}{s}$$$

## 2.2 The Limit of a Function

Learning Objectives: After completing this section, we should be able to

- define the limit of a function and make educated guesses at limits.
- define the one-sided limit of a function and make educated guesses at limits.



Note, for 
$$\lim_{x \to 0} f(x) = L$$
,  $f(x)$  must be arbitrarily close to  $L$  for  $\frac{1}{x}$ , to the  $\frac{1}{x}$  subficiently  $\frac{1}{x}$  by  $\frac{1$ 

#### 2.2.2 Indeterminate Forms

**Question.** What could happen for a function f(x) to **NOT** have a limit?



**Question.** How can we recognize these examples from the functions f(x), g(x), and h(x)?

In general, if f(x) has bad behavior at x = a, then  $\lim_{x \to a} f(x)$  may not exist.

divide by O at X=a
Acgative Andbers in even powered roots (think J-i)
Acgative Andbers inside logarthins (think In(-3))
pieces do not match at X=a
other strange things (wonfibe dealt with in MTH 150)
other strange things (wonfibe dealt with in MTH 150)

## 2.2.3 Infinite Limits and Vertical Asymptotes

What does it mean for  $\lim_{x \to a} f(x) = \infty$ ?

Example continued.  
If 
$$x > 2^{+}$$
 (x approaches 2 from the right), then  $f(x)$   
is growing without bound, thus  $\lim_{X > 2^{+}} f(x) = +\infty$   
 $=>$  Therefore  $X = 2^{-}$  is a vertical asymptote  
 $=>$  Let's consider  $X > 2^{-}$   
 $\frac{x}{4(x)} \frac{1.9}{4(1.9) = -80} \frac{1.949}{1.(1.949) = -8000} \frac{1.999}{1.(1.9499) = -80000}$   
 $=> \lim_{X > 2^{-}} \frac{1.9}{4(x)} \frac{1.949}{1.(1.949) = -8000} \frac{1.999}{1.(1.9499) = -800000}$   
 $=> \lim_{X > 2^{-}} \frac{1.9}{1.(x)} \frac{1.949}{1.9} \frac{1.949}{1.(1.949) = -8000} \frac{1.999}{1.(1.9499) = -800,0000}$   
 $=> \lim_{X > 2^{-}} \frac{1.9}{1.(x)} \frac{1.949}{1.(x)} \frac{1.949}{1.(x)} \frac{1.999}{1.(x)} \frac{1.999$ 

$$5_{0} \quad finally \\ \lim_{X \to -2} \frac{8 \times + 16}{\times^{2} - 4} = \frac{1}{\times - 7 - 2} \frac{8(X + 2)}{(X + 2)(R - 2)} = \frac{1}{X - 7 - 2} \frac{8}{X - 2} = \frac{8}{-2 - 2} = \frac{8}{-4} = -2$$



Example continued.

-

#### $\mathbf{2.3}$ **Calculating Limits**

Learning Objectives: After completing this section, we should be able to

• calculate limits using various Limit Laws and properties.

#### 2.3.1Limit Laws

Suppose that c is any constant and the limits  $\lim_{x\to a} f(x)$  and  $\lim_{x\to a} g(x)$  exists i.e., they are equal to a real number. Then

1. Constant multiples:  $\lim_{X \to a} \left( \begin{array}{c} c \\ \end{array}, \begin{array}{c} f(x) \end{array} \right) = c \cdot \left( \begin{array}{c} f_{(x)} \\ x \to a \end{array} \right)$ 

2. Sums:  

$$\frac{1}{x - 2a} \left( f(x) + g(x) \right) = \left( \lim_{X - 2a} f(x) \right) + \left( \lim_{X - 2a} g(x) \right)$$

$$\frac{1}{x - 2a} \left( f(x) - g(x) \right) = \lim_{X - 2a} \left( f(x) + (-1)g(x) \right) = \left( \lim_{X - 2a} f(x) \right) + \left( \lim_{X - 2a} (-1)g(x) \right)$$

$$= \left( \lim_{X - 2a} f(x) \right) + (-1) \left( \lim_{X - 2a} g(x) \right) = \left( \lim_{X - 2a} f(x) \right) - \left( \lim_{X - 2a} g(x) \right)$$
3. Products:  

$$\lim_{X - 2a} \left( f(x) \cdot g(x) \right) = \left( \lim_{X - 2a} f(x) \right) \left( \lim_{X - 2a} g(x) \right)$$

6. Roots:  

$$\int_{X \to a}^{\infty} \int f(x) = \sqrt{\int_{X \to a}^{\infty} f(x)}$$
For all of thuse,  $\int_{X \to a}^{\infty} f(x)$  and  $\int_{X \to a}^{\infty} g(x)$  A end to  $e_{X,x}$ ; the function  $f(x) = 2$  and  $\lim_{X \to a} g(x) = -1$ . Compute  

$$\lim_{X \to a} \left( 5 \frac{f(x)}{g(x)} - (g(x))^4 + g(x)\sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{\sqrt{(1)}} \left( 5 \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \left( 9 (x) \right)^4 + \int_{X \to a}^{1} g(x) \sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{\sqrt{(1)}} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} g(x) - \int_{X \to a}^{1} g(x) \sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{\sqrt{(1)}} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} g(x) \sqrt{f(x)} + \int_{X \to a}^{1} g(x) \sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{\sqrt{(1)}} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} g(x) \sqrt{f(x)} + \int_{X \to a}^{1} g(x) \sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{1} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} g(x) \sqrt{f(x)} + \int_{X \to a}^{1} g(x) \sqrt{f(x)} \right).$$

$$= \int_{X \to a}^{1} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{g(x)}{g(x)} \sqrt{\int_{X \to a}^{1} \frac{f(x)}{f(x)}} \right).$$

$$= \int_{X \to a}^{1} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{g(x)}{g(x)} \sqrt{\int_{X \to a}^{1} \frac{f(x)}{f(x)}} \right).$$

$$= \int_{X \to a}^{1} \left( \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{g(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{g(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{f(x)}{g(x)} - \int_{X \to a}^{1} \frac{f(x)}{g(x)} + \int_{X \to a}^{1} \frac{f(x)}{g(x)} +$$

#### Page 10 of 35

## 2.3.2 Computing Limits

Given f(x), how do we compute limits?

• If there is no bad behavior, just plug in x = a.

Example.

$$\lim_{\substack{x \to 2 \\ x \to 3}} (2x^{2} + x + 4) = 2(3)^{2} + (3) + 4 (01kay + 0 stop) = 2 \cdot 9 + 7 = 18 + 7 = 25$$

- =) Got a number, so we're done
- If there is bad behavior, attempt to tame it.

Example.  

$$\lim_{\substack{X \to 2 \\ X \to 2}} \frac{x^2 - 4}{x - 2} \rightarrow \frac{z^2 - 4}{z - 2} \rightarrow \frac{0}{0} e^{-1}$$
indeterminate.  
Try to simp liftly:  $= \lim_{\substack{X \to 2 \\ X \to 2}} \frac{(x+1)(x+1)}{(x+2)} = \lim_{\substack{X \to 2 \\ X \to 2}} (x+2)$ 

$$= 2 + 2 = 4 e^{-1}$$

$$= \sum_{\substack{x \to 2 \\ x \to 2}} \lim_{\substack{x \to 0}} \frac{\chi^{2} - 4}{x - 2} = 4$$
  
Example.  $\lim_{x \to 0} \frac{\frac{1}{5 + x} - \frac{1}{5}}{x} - \sum_{\substack{x \to 0}} \frac{1}{5 + 0} - \frac{1}{5} - \sum_{\substack{x \to 0}} \frac{1}{5 - \frac{1}{5}} - \sum_{\substack{x \to 0}} -$ 

.

$$= \lim_{X \to 0} \left( \frac{1}{5+x} - \frac{1}{5} \right) \frac{(5+x)}{(5+x)} = \lim_{X \to 0} \frac{1 - \frac{5+x}{5}}{x(5+x)} \qquad \text{Did Not quite clean it -p,} \\ \lim_{X \to 0} \frac{1}{(5+x)} \frac{1 - \frac{5+x}{5}}{x(5+x)} \qquad \lim_{X \to 0} \frac{1}{x(5+x)} \frac{1 - \frac{5+x}{5}}{x(5+x)} \qquad \lim_{X \to 0} \frac{1}{x(5+x)} \frac{1 - \frac{5+x}{5}}{x(5+x)} = \frac{1}{x(5+x)}$$

$$= \lim_{X \to 0} \frac{1}{5+x} \left(\frac{5}{5}\right) - \frac{1}{5} \left(\frac{5+x}{5+x}\right) = \lim_{X \to 0} \frac{5}{5(5+x)} - \frac{(5+x)}{(5(5+x))} \left(2 \operatorname{cormon}, \frac{1}{5} \operatorname{Notry}, \frac{5+x}{5+x} = 1\right)$$

$$= \lim_{X \to 0} \frac{5 - (5+x)}{5(5+x)} = \lim_{X \to 0} \frac{5 - 5 - x}{5(5+x)}$$

$$= \lim_{X \to 0} \frac{5 - (5+x)}{x} = \lim_{X \to 0} \frac{5 - 5 - x}{5(5+x)}$$

$$= \lim_{X \to 0} \frac{-x}{5(5+x)} = \lim_{X \to 0} \frac{(-1)(x)}{5(5+x)} \left(\frac{1}{x}\right)$$

$$= \lim_{X \to 0} \frac{-1}{5(5+x)} = \lim_{X \to 0} \frac{-1}{5(5+x)}$$

$$= \lim_{X \to 0} \frac{(-1)}{5(5+x)} = \lim_{X \to 0} \frac{-1}{5(5+x)}$$

$$= \frac{1}{5}(5+x) = \frac{-1}{2.5}$$

=) 
$$\lim_{X \to 0} \frac{1}{5+x} - \frac{1}{5} = -\frac{1}{25}$$

Example. 
$$\lim_{x \to 0} \sqrt{x^{2} + 100} - 10 \qquad = \sqrt{\sqrt{0^{2} + 100}} - 10 \qquad = \sqrt{10^{2} - 10} = \sqrt{$$

Check: Did you write lim every time until you substituted? Summary: How to compute lin fix) then  $\lim_{x \to a} f(x) = f(a)$  (just plug in X = at the) start 1. If no bad behavior at x = a, 2. If bad behavior, i.e., fra) is not a number and is something like of then try to tame it by simplifying. (a) If f(x) = polynomial, then factor and cancel. (b) If  $f(x) = \frac{f_{raction} \pm f_{raction}}{p_{olynomial}}$ , then combine fractions with a common denominator, and then cancel. (c) If  $f(x) = \frac{\sqrt{\text{something}} \pm \text{something}}{polynomial}$ , then multiply by the Conjugate in the numerator and denominator, then simplify and cancel. (The conjugate sweps 't' with '-' or vice versa) 3. If piecewise, and fix) changes pieces at x=a, then Consider each piece separately. (a) If the pieces match at X=q, then that is バイ (b) If the pieces do not match at X=ajie, they are different numbers, then the limit Does Not EXBI (SNE)

4. If bad behavior cannot be eliminated by using this procedure jie, evaluating your simplified function yields <u>nonzero number</u>, then the limit DNE

#### $\mathbf{2.5}$ Continuity and the Intermediate Value Theorem

Learning Objectives: After completing this section, we should be able to

- define continuity and discontinuity.
- state and apply the Intermediate Value Theorem.

**Definition.** A function f is continuous at x = a if

$$\lim_{x \to a} f(x) = f(a).$$

This means 3 things:

х

1. 
$$\lim_{x\to 0} f(x) e_{Xij+s'}(i_{x,j}, \lim_{X \to 0} f(x)) = \lim_{X \to 0} f(x), and it is a Aunder
2. 
$$f(a) \text{ is defined}(i_{x,j}, f has a numerical output for the input a.
3. The limit is equal to the functions output at a jie, (11 and (2)
give the same number.
If any one of these fail, then the functions for f(x) is
discontinuous of X=a.
Example. Consider  $f(x) = \frac{d+1}{d+1}$   
Not, there is bod betavior if  $X^{2} - y = 0 \Rightarrow X^{2} - 4 = (X-2)(X+2) = 0$  when  $X = 2 \neq 2$   
So, if  $X = -2$  or  $X = 2$ , then  $f(x)$  has no output as we try to  
divide by 0. So, find is discontinuous of  $X = -2$  is  $X = -2$ , as it violates  
criteria (2) from above.  
All other inputs  $(X - value)$  are on  $(-\infty, -2) \cup (-2, 2) \cup (2, \infty)$   
Example. Consider  $f(x) = \frac{d+1}{\sqrt{2}}$   
If  $X < 0$  then is bod behavior as we have negatives inside  
an even powered root.  $\Rightarrow f(x) = \sqrt{2}$ .  
Thus, f is continuous for all X excluding  $X^{2-2}$  or  $X = 2$   
Example. Consider  $f(x) = \sqrt{x}$ .  
If  $X < 0$  then there is bod behavior as we have negatives inside  
an even powered root.  $\Rightarrow f(x) = \sqrt{x}$  is undefined; i.e., has  
no output, if  $X < 0$ . So f is continuous for  $X > 0$ .  
There for, f is continuous for  $X = 0$  for  $X > 0$ .  
There is (2).  
If  $X < 0$  then there is bod behavior as we have negatives inside  
an even powered root.  $\Rightarrow f(x) = \sqrt{x}$  is undefined; i.e., has  
no output, if  $X < 0$ . So f is continuous for  $X > 0$ .  
There for, f is continuous for  $X > 0$ .  
There for, f is continuous for  $X > 0$ .  
Consider  $X = 0$ . As f is continuous for  $X > 0$ .  
There for, f is continuous for  $X > 0$ .  
 $X > 0$ .  
 $X > 0$ , then there are no problems as  
 $x > 0$ .  
 $X = 0$  then the is the diff of 0; i.e. negative  $X > 0$ .  
 $X = 0$  then the is for  $X > 0$ .  
 $X = 0$  then the is the of finition of  $X > 0$ .  
 $X = 0$  then the is finition of  $X > 0$ .  
 $X = 0$  there for  $X = 0$  the finition of  $X > 0$ .  
 $X = 0$  there is  $X > 0$ .  
 $X = 0$  there is  $X > 0$ .  
 $X = 0$  there is  $X > 0$ .  
 $X = 0$  the is f is continuous for  $X > 0$ .  
 $X = 0$  the is  $X = 0$ .  
 $X = 0$  the is f is continu$$$$

Note, a	fnctn	f lin x-za-	ז רא	Continuous ) = $f(a)$	from	the	left	at	X= 4	ጉና
MTH 150		Section	n 2.5:	Continuity and	the Intern	nediate Val	ue Theorem		Page 14	of 35

=>

Types of discontinuities:

• Jump



$$\lim_{x \to a^{-}} f(x) \neq \lim_{x \to a^{+}} f(x),$$
  
So 
$$\lim_{x \to a} f(x) \quad DNE, so \quad F is$$
  
discontinuous at  $x=a$ .

$$\int_{x \to a}^{1} f(x) \quad do(s \quad exist)$$

$$\int (a) \quad exists$$

$$\int_{x \to a}^{1} f(x) \neq f(a)$$

$$\int x \to a \quad exists$$

$$\int f(x) \neq f(a)$$

$$\int f(x) \quad exists$$

Note lim f(x) = +00
and lim f(x) = +00
so lim f(x) = +00
so lim f(x) = +00
Recall, 00 is not a number, so technically, lim f(x) DNE
>> discontinuous
Also, f(a) is undefined, so definitely discontinuous
f is discontinuous at x=a.



Continuous

**Theorem** (Intermediate Value Theorem). Assume f is continuous on [a, b], and  $\bigcup$  is any between fra) and frb). Then there exists a Number (a, b) such that f(c) = L. in С (a, fra), Sketch: Challensed with the y-value t(a) -L between fras \$ \$ 16) we found an input C such that f(c)=L, The Intermediate Value Theorem (IVT) guarantees ( b, f(b)) such a c exists between ſι) a 3 b С Ь Translation: A continuous factor fix hits all intermediate values (outputs) on the interval from (a, b). Why do we care about IVT? On its own, the firs not particularity use ful, though are some applications (1) The TVT helps prove the Mean Value Theorem, is extremely useful. (2) From there, the Mean Value Theorem helps prove the Fundamental Theorem of Calculus (is extremely useful) \_\_\_\_\_

Application of IVT: Root finding problems

**Example.** Kepler's equation for orbits (planets, satellites, etc...) is given by  $y = x - a \sin(x)$  where constant appropriate for the problem. ís a a

Suppose we measure 
$$y = 1.4$$
 and  $a = 0.1$ .  
 $y = x - a \cdot sin(x)$   
 $1.4 = x - 0.1 \cdot sin(x)$ .  
Can be find  $x$  so that this equation is true?  
This is impossible to solve using also bro/trig  
 $= 2 We'll$  convert this to a root finding problem.  
 $1.4 = x - 0.1 sin(x) = 20 = x - 0.1 sin(x) - 1.4$ 

Example continued. Lall f(x) = X-O, 1sin(x) - 1,4. Then if us find X such that f(x) = 0, then we have solved the equation.
Will use the IVT to show a root/solution exists between a b a a a b Note f(x) = x - O(1sin(x) - 1.4 is continuous on the interval [0,TT]
Also, $f(a) = f(0) = 0 - 0.1 \cdot \sin(0) - 1.4 = -1.4$ and $f(b) = f(\pi) = 0 - 0.1 \cdot \sin(\pi) - 1.4 \approx 1.7$ Since $L = 0$ is between $f(0) = -1.4$ and $f(\pi) \approx 1.7$ . the IVT guarantees there is a c between $0.5$ $\pi$
such that $f(z) = 0$ . 
=> (approxinate answer X ~ 1, 49975 not our course to find it jis, f(1,49975) ~ 0) IVT doesn't provide a solution, it only tells us one

## 2.6 Limits at Infinity and Horizontal Asymptotes

Learning Objectives: After completing this section, we should be able to

- define the limits of a function at infinity and determine horizontal asymptotes of functions, if there are any.
- understand the infinite limits of a function at infinity.

**Example.** We've encountered the function  $f(x) = \frac{8x+16}{x^2-4}$  before.



It looks maybe a horizontal asymptote too. Perhaps y = 0?

**Definition.** x = a is a vertical asymptote if

**Definition.** y = L is a *horizontal asymptote* if

$$\lim_{X\to\infty} f(x) = L$$

Example.

$$\lim_{x\to\infty}\frac{8x+16}{x^2-4}$$

The numerator  $8x + 16 \rightarrow 00$  as  $x \rightarrow 00 \rightarrow 100$   $x^{2} - y \rightarrow 00$ The demonstrator  $x^{2} - y \rightarrow 00$  as  $x \rightarrow 00 \rightarrow x^{2} - y \rightarrow 00$ 

What is 
$$\overset{\infty}{\sim}$$
? I + is an indeterminate value. When both the numerator  
and denominator each approach infinity, then the overall  
limit could be anything (a number, an infinity, DNE...

Can we do some algebra to clean up 
$$\lim_{x \to \infty} \frac{8x + 16}{x^2 - 4}$$
 and get an actual value instead of an indeterminate form?  

$$\lim_{X \to \infty} \frac{8 \times + 16}{x^2 - 4} \quad (\frac{1}{x^2}) = \lim_{X \to \infty} \frac{8 \times (\frac{1}{x^2}) + 16(\frac{1}{x^2})}{x^2 (\frac{1}{x^2}) - 4 (\frac{1}{x^2})} = \lim_{X \to \infty} \frac{8}{x} + \frac{14}{x}$$

$$\lim_{x \to \infty} \frac{8}{x} + \frac{1}{x}$$

$$\lim_{x \to \infty}$$

Question. Is it possible to have 2 horizontal asymptotes?



Question, is it possible to have more than 2 horizontal asymptotes?  
To find that (horizontal asymptote), we consider only two limits  

$$\frac{V_{N-p}}{V_{N-p}}f(x) \quad and \quad V_{N-p}f(x)$$
Nor there cannot be more than 2 thA  
Question. How many vertical asymptotes can be have?  
Any there cannot be more than 2 thA  
Question. How many vertical asymptotes can be have?  
Any there among the among the have and the have?  
Any there among the have and the have?  
Any there among the have have?  
Any there are also the have have?  
Any there among the have have?  
Any there and the  
next of the hint is  
 $\frac{a}{b}$  (also works for  $\frac{lim}{N-a} \frac{ax^n}{bx^n}$ )  
Example,  $\lim_{n\to\infty} \frac{5x^0 - 6x^2 + 10^{1000}}{3x^0 + 10x^3 - 1} = \frac{5}{3}$ , as the powers of x in the  
Anote resulting limit is the ratio of their case firstents.  
Note,  $y = \frac{5}{3}$  is a heritontal asymptote for  $\frac{5x}{3x^5 + 10x^3 - 1}$   
Example,  $\lim_{n\to\infty} \frac{10^{100}x^5}{3x^5 + 10x^3 - 1} = 0$ , as the highes power of X in  
the decominator (5.01) is greater than the  
high est power of x in the Americator (5)  
Note,  $y = 0$  is a horizontal asymptote for  $\frac{16^{10}x}{0,001x^{5.01}}$ 

MTH 150



### 2.7 Derivatives and Rates of Change

Learning Objectives: After completing this section, we should be able to

- define the slope of the tangent line to a curve at a point as the limit of the slopes of secant lines of the curve.
- define the instantaneous velocity of a moving object as the limit of its average velocity.
- establish the definition of the derivative and interpret it as the slope of the tangent line to a curve.
- interpret the derivative as the instantaneous rate of change.

Recall from earlier: If we know position s(t), how do we get the instantaneous velocity at time t?



This is the slope of the tangent line to f(x) at X = a.
If f is a position factor, then we call instantaneous rate of change the Example. Find the equation of the tangent line to f(x) = x<sup>2</sup> + 2x + 1 at x = 1.

$$f(x)$$

• To write the equation of any line, we need two things (11 slope (1) point

Example continued: 
$$f(x) \leq x^{-1} + ix + 1$$
  
Slope =  $\lim_{X > 1} \frac{f(x) - f(x)}{x - 1} = \lim_{X > 1} \frac{(x^{2} + ix + 1) - (i^{2} + iz + 1)}{x - 1}$   
=  $\lim_{X > 1} \frac{x^{2} + ix + 1 - (4)}{x - 1} = \lim_{X > 1} \frac{x^{2} + ix - 3}{x - 1} - 2 \frac{i^{2} + 2i - 3}{i - 1} > \frac{0}{0}$   
=  $\lim_{X > 1} \frac{(x + 3)(x - 1)}{(x - 1)} = \lim_{X > 1} x + 3 = i + 3 = 4$ .  
So Slope =  $m = 4$ .  
The point at x = 1 on the graph of  $f(x) = x^{2} + ix + 1$  is  $(1/2^{4}(0))$   
=  $\int f(1) = i^{3} + 2i + 1 = 4^{2} + 50$  the point is  $(1/2^{4})$ .  
Recall, the point - slope from of a line through  $(x_{1}, y_{1}) = u^{2} + 1$ .  
So Slope =  $m = 4$ .  
The point at x = 1 on the graph of  $f(x) = x^{2} + ix + 1$  is  $(1/2^{4}(0))$ .  
Recall, the point - slope from of a line through  $(x_{2}, y_{1}) = u^{2} + 1$ .  
So Slope  $m = 5$  sime by  $(y - x_{1}) = m(x - x_{1})$ .  
Here,  $m = 4^{2}$  and  $(x_{1}, y_{1}) = (1/2^{4})^{2}$  so our transet is  
given by  $(y - y_{1}) = 4^{2} + (x - 1)$ .  
Y contains slope form of a slope

Example. Let's find the slope of 
$$f(x) = x^2 + 2x + 1$$
 at  $x = 1$  again with this alternative limit.  
 $5 \log_e = \int_{h-20}^{1m} \frac{f(1+h) - f(1)}{h} = \int_{h-20}^{1m} \frac{f(1+h)^2 + 2(1+h) + 1}{h} - f(1+h)(1+h)}{h}$   
 $= \int_{h-20}^{1m} \frac{f(h^2 + 2h + 1) + 2(1 + 2(h + 1)) - f(1)}{h}$ , as  $(1+h)^2 = (1+h)(1+h) = h + 22h$   
 $a_{n,k} = 2(1+h) = 2(1+2)h$   
 $a_{n,k} = 2(1+h) = 2(1+h)$ 

You try!

Example. Find the equation of the tangent line 
$$f(x) = (x - 1)^{2}$$
 at  $x = 2$ .  
 $S \mid ope = \lim_{k \to 2} \frac{f(x) - f(x)}{k \cdot 2}$  or  $S \mid ope = \lim_{k \to 0} \frac{f(2 + k) - f(2)}{k}$   
 $s \mid ope = \lim_{k \to 0} \frac{f(1 + k) - f(2)}{k} = \lim_{k \to 0} \frac{f(2 + k) - 1}{k} = \frac{f(x)}{k} \frac{f(2 + k) - 1}{k} = \lim_{k \to 0} \frac{f(2 + k) - 1}{k}$ 

**Definition.** The *slope of the tangent line* at a point x is

$$\lim_{x \to 0} \frac{f(x+h) - f'(x)}{h}.$$

Note, X is a generic variable, and if we compose this limit, then we get a new function that depends on X. Defai The derivative of f(x) is the function  $f'(x) = \frac{\lim_{k \to 0} \frac{f(x+k) - f(x)}{k}}{k}$ , if prime of X provided the limit exists. If the limit exists for an X, then we say f is differentiable at X.

Alternative Notation:

Definition. The derivative of f(x) is the function  $f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \to 0} \frac{f(x+h) - f(x)}{(x+h) - x}$  $= \int_{\Delta X \to 0}^{1} \frac{\Delta f(x)}{\Delta x} \qquad \frac{\text{"chose in f"}}{\text{"chose in x"}}$ = dt derivative of f with respect to X "af divided by dx" => "df dx" (understood that there is division) How do we interpret the derivative?  $\frac{df}{dx} = f'(x) = \lim_{k \to 0} \frac{f(x+k) - f(x)}{k}$ slope of secant line through (x, fix)) and (xth, fixth)) Units: The Units of F(x) is Unit of f ΔŦ -> Ex) If f(x) outputs miles when inputted hours, then f(x) has a unit of miles - mph If g(x) is in mph with input of hours then g'(x) has a Fx) What is the derivative? How do we interpret what it means?  $\frac{Miles}{Lour} = \frac{Miles}{Lour}$ (acceleration) Ex) Suppose h(x) is GDP in dollars with input of years then h'(x) has unit of dollars => Rate of chanse of GDP

Summary:

• The derivative at a point 
$$x = a$$
 is  
 $Slope of tangent |ine = f'(a) = \lim_{X \to a} \frac{f(x) - f(a)}{x - a} = \lim_{h \to 0} \frac{f(a+1) - f(a)}{h}$   
of tangent |ine =  $f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$   
• The derivative at any point x is  
 $Slope of tangent |ine = f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$   
• What does  $f'(x)$  mean?  
- Instantaneous (ate of change of f with respect to x  
= Instantaneous (ate of change of the curve f at x  
- Slope of f at X  
- Slope of f at X  
- If f is a displacement or position function, then  
 $f'(x)$  is velocity  
- In general, with of  $f'(x) = \frac{with of f}{with of x}$ 

## 2.8 Derivative as a Function

Learning Objectives: After completing this section, we should be able to

- define and find the derivative f' as a new function derived from a function f.
- denote a derivative using Leibniz notation and prove the fact that the if a function is differentiable then it is continuous.
- analyze the cases in which a function fails to be differentiable.
- analyze whether the derivative of a function is differentiable.

Definition. Recall that the derivative of 
$$f(x)$$
 is given by  

$$\frac{df}{dx} = f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$
Visually: (Note, the verb of taking a derivative  $is$  differentiate)  
 $f(x)$   
 $f($ 

A common problem is finding the equation of a tangent line to a function. We need

Example. Recall from last time, we found the equation of the tangent line to  $f(x) = x^2 + 2x + 1$  at x = 1.

$$point: (1, +(1)) = (1, i^{2} + 2 \cdot i + 1) = (1, i^{2} + 2 \cdot i + 1) = (1, i^{2} + 2 \cdot i + 1) = (1, i^{2} + 2 \cdot i + 1) = slope: 4 + f(1), Note find find fixed for the second field of the second of the s$$

Example. What is the derivative of 
$$f(x) = x^2 + 2x + 1$$
?  

$$f'(x) = \int_{h>0}^{\infty} \frac{f(x+h)^2 + 2(x+h) + 1}{h} - \int_{h}^{\infty} \frac{x^2 + 2x + 1}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2(x+h) + 1}{h} - \int_{h}^{\infty} \frac{x^2 + 2x + 1}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2(x+h) + 1}{h} - \int_{h=0}^{\infty} \frac{x + h^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h+2)}{h} = \int_{h>0}^{1} \frac{x + h^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h+2)}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h+2)}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h+2)}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h} = \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

$$= \int_{h>0}^{1} \frac{f(x+h)^2 + 2h}{h}$$

Example. Find the equation of the tangent line to  $f(x) = x^2 + 2x + 1$  whose slope is 6. For a line, we need a (1) slope and (2) point Here, we know the slope, and we need to find the point. Where is the slope 6? is the slope 6? is the slope 6? is the slope found for  $x = 2 \times 42$   $= 2 \times 42 = 6$  (previous example found for  $x = 2 \times 42$ )  $= 2 \times 42 = 4$   $= 2 \times 42 = 2$ point :  $(2, f(x)) = (2, 2^2 + 2\cdot 2 + 1) = (2, 9)$ slope : 6 the equation of the tangent line to f with slope 6

The equation of the tangent line to 
$$f''' = y_1 = m(X - X_1)$$
  

$$= \frac{y' - y_1}{y' - 9} = 6(X - 2)$$

You try!

Example. Find the derivative of 
$$f(x) = \frac{1}{3x-1}$$
.  

$$f'(x) = \int_{h\to0}^{lm} \frac{f(x+1) - f(x)}{h}$$

$$= \int_{h\to0}^{lm} \left[ \frac{1}{3(x+1) - 1} \right] \left( \frac{3x-1}{3x-1} \right) - \left[ \frac{1}{3x+1} \right] \left( \frac{3(x+1) - 1}{3(x+1) - 1} \right)$$

$$= \int_{h\to0}^{lm} \frac{(3x-1) - [3(x+1) - 1]}{h} = \int_{h\to0}^{lm} \frac{3x-1 - [3x+3h - 1]}{(3(x+1) - 1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{(3x-1) - [3(x+1) - 1]}{h} = \int_{h\to0}^{lm} \frac{3x-1 - [3x+3h - 1]}{(3(x+1) - 1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{(3(x+1) - 1)(3x-1)}{h} = \int_{h\to0}^{lm} \frac{-3b}{(3(x+1) - 1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{-3}{(3(x+1) - 1)(3x-1)} = \int_{h\to0}^{lm} \frac{(3(x+1) - 1)(3x-1)}{(3(x+1) - 1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{-3}{(3(x+1) - 1)(3x-1)} = \frac{-3}{(3x-1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{-3}{(3(x+1) - 1)(3x-1)} = \frac{-3}{(3x-1)(3x-1)}$$

$$= \int_{h\to0}^{lm} \frac{-3}{(3(x+1) - 1)(3x-1)} = \int_{(3x-1)^{2}}^{lm} \frac{-3}{(3x-1)(3x-1)}$$

You try!

**Example.** Find the equation of the tangent line to  $f(x) = \frac{1}{3x-1}$  at x = 1.

Slope: 
$$M = f'(1) = \frac{-3}{(3 \cdot 1 - 1)^2} = \frac{-3}{2^2} = -\frac{3}{4}$$
  
point;  $(1, f(1)) = (1, \frac{1}{3 \cdot 1 - 1}) = (1, \frac{1}{3 - 1}) = (1, \frac{1}{2})$ 

Tangent line: 
$$y - y_1 = m(x - x_1)$$
  
=>  $y - \frac{1}{2} = -\frac{3}{4}(x - 1)$ 

	2.8.1 Differentiability	. 1					
	Recall $+ (x) = \lim_{h \to 0} \frac{+ixh(x+h)}{h}$ , if	the	linit	<u> </u>	5 When d	065 17 1107	ensi i
	<b>Definition.</b> The derivative of the function $df$	f(x) is	given b	y Lik)			
	$\frac{\partial (r)}{\partial x} = f(x) =$	h->0	1/1/1/ L		when this	linit exi	\$ <del>7</del> 5,
Aside;	$\frac{df}{dx}\Big _{X=3}$ is the derivative evolution of the derivative evolution $f(x+h) - f(x)$	al- atcd a tive (= 3	at, of	(_ع_` ۱ ₽	his is con with respec	t to X	evaluated
	When will we get $\lim_{h \to 0} \frac{f(x + x) - f(x)}{h}$ doe	es not exi	st?				
	1. Corners charp corner at	1 in h ->0	<u> </u>	+h)-f( h	<sup>al</sup> ≠ lin +-10	+ <u>frath</u> 7-	f (a)
	try try	50	lin ± h->0	- <u>r#</u> +(1 L	<u>f</u> DNE;	ic, f is Ji Áferentiel	ло7 2 at X=0
	$\longleftrightarrow x$						
,	2. Cusps cosp at X=a	. ſ	(67L) -	fri	N N F		
	510 pc -> -00	lin ± h76 linit	h s are	. 87f	ferent.	lett an	) -[]<)
	(x)						
	x						
	3. Vertical Tangents						
Vertical for monut		4	î	∩ ot	differentiable	i at X-	- q
	4. Discontinuities $4$						
		f	ĩs	٨٥٢	dif forenti	able at	x=0
	x						

**Theorem.** If f is differentiable at x = a, then

*Proof.* Assume f(x) is differentiable at a.

This means by definition  

$$\begin{bmatrix}
in \\ h = 0 \end{bmatrix} \frac{f(a+1) - f(a)}{h} = exists and it is f'(a).$$
To show f is continuous at a, we need  $\frac{1}{x_{1,a}} f(x) = f(a).$   
Note  $f'(a) = \frac{1}{h_{2,0}} - \frac{f(a+1) - f(a)}{h} = \frac{1}{x_{2,a}} - \frac{f(a)}{x_{-a}}.$   
Slope of  $\frac{1}{x_{2,a}} - \frac{f(a+1) - f(a)}{h} = \frac{1}{x_{2,a}} - \frac{f(a)}{x_{-a}}.$   
Consider  $\frac{1}{x_{2,a}} [f(x) - f(a)] = 0$  its own multiply by a elever (  
Then  $\frac{1}{x_{2,a}} [f(x) - f(a)] = \frac{1}{x_{-a}}$  (x-a)  
Note,  $\frac{1}{x_{2,a}} [f(x) - f(a)] = \frac{1}{x_{2,a}} - \frac{1}{x_{2,a}}$  (x-a)  
Note,  $\frac{1}{x_{2,a}} (\frac{f(x) - f(a)}{x_{-a}}) = f(a)$  by our initial assumption jie,  
it is a number.  
A lso,  $\frac{1}{x_{2,a}} (x-a) = a - a = 0 \le 0$  is a number  
Since  $\frac{1}{x_{2,a}} (\frac{f(x) - f(a)}{x_{-a}}) = (\frac{1}{x_{2,a}} - \frac{f(x) - f(a)}{x_{-a}}) (\frac{1}{x_{2,a}} - \frac{1}{x_{2,a}}) = 0$   
 $= (f'(a)) \cdot (0) = 0$   
So,  $\frac{1}{x_{2,a}} [f(x) - f(a)] = 0$   
 $= 0$   $= 0$   $\frac{1}{x_{2,a}} [f(x) - f(a)] = 0$   
 $= 1$   $\frac{1}{x_{2,a}} [f(x) - f(a)] = 0$   
 $= 0$   $\frac{1}{x_{2,a}} [f(x) - f(a)] = 0$ 

 $= \sum_{x \to a} f(x) = f(a)$ 

So f is continuous at X= a.

"QED" => Latin Qb braviation for "it has been shown." We proved differentiable implies continuity.



Note, 
$$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$
 exists everywhere except at  $X=0$ .  
So, we say  $f$  is differentiable on  $(-\infty, \alpha) \cup (\alpha, \infty)$   
 $o(X \neq \alpha)$ 

Question. True or False: If f is continuous, then f is differentiable.

#### 2.8.2 Higher Order Derivatives

Since f' is a function, there is nothing stopping us from taking the derivative of f'. Notation:

The Second derivative of 
$$f$$
 is Notated by  
 $f''(x) = \frac{d^2 f}{dx^2}$   
why  $\frac{d^2 (f)}{dx^{1/2}}$ ? Note  $\frac{d}{dx}$  is an operation fulling us to take a  
derivative with respect to  $x$ .  
=)  $f'(x) = \frac{d}{dx}$   $f = \frac{d}{dx}$   
 $= \sum f''(x) = \frac{d}{dx}$   $f(x) = \frac{d}{dx}$   $\frac{df}{dx} = \frac{d^2 f}{(dx)^1}$   
 $\frac{f'''(x)}{(dx)^2} = \frac{d^3 f}{dx^3}$ ,  $f^{(u)}(x) = \frac{d^u f}{dx^u}$ , ...  
Example. Find  $f''(x)$  if  $f(x) = x^2 - x$ , find  $f'(x)$ .  
 $f(x) = x^2 - x$ , find  $f'(x)$ .  
 $f''(x) = \frac{f''(x)}{h} = \frac{f(x)}{h}$   $\frac{f(x) - f(x)}{h} - \frac{f(x^2 - x)}{h}$   
 $f''(x) = \frac{f''(x)}{h} = \frac{f(x)}{h}$   $\frac{f(x) + h^2 - h}{h} = \lim_{h \to 0} \frac{h(2x+h-1)}{k}$   
 $= \lim_{h \to 0} \frac{2hx + h^2 - h}{h} = \lim_{h \to 0} \frac{h(2x+h-1)}{k}$   
 $= 2x + o - 1 = 2x - 1$ 

$$F''(x) = \lim_{h \to 0} \frac{f'(x+h) - F'(x)}{h} = \lim_{h \to 0} \frac{F(x+h) - I}{h} = \frac{1}{2} \frac{1}{2} \frac{x+h}{h} = \lim_{h \to 0} \frac{2h}{h}$$
$$= \lim_{h \to 0} \frac{2x+2h}{h} - \frac{1}{2} \frac{2h}{h} = \lim_{h \to 0} \frac{2h}{h}$$
$$= \lim_{h \to 0} 2$$
$$= 2$$

 $S_{0} = \frac{f''(x) = 2}{h^{-1}o} \frac{f''(x+1) - f''(x)}{h} = \lim_{h \to 0} \frac{2-2}{h} = \lim_{h \to 0} \frac{0}{h} = \lim_{h \to 0} 0 = 0$ 

# Example Continued: